
1Achievers

RRC Level-1 Exam. Practice Set
Answers with Explanation

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

1. (b) =‹îûyÝþ öë ‰þw=® ö›ïöìëÅîû îûyöì‹Äîû x‚Ÿ !Šéœ “þy ²Ì›y!’“þ
£ëû îû&o”›öì̃ îû ‹%̃ y†vþü !Ÿœy!œ!þ™ öíöì„þÐ

2. (d) ¦þyîûöì“þ ›y˜%öì¡ìîû x!hßþöìcîû ¢îÅ²Ìí› !˜”ŸÅ̃  ˜›Å”y vþzþ™“þÄ„þyëû
þ™yçëûy !†öìëû!ŠéœÐ

3. (d) ö£!œçöìvþyîûyöì¢îû öî¢y˜†îû !Ÿœy!œ!þ™ îy¢%öì”öìîîû ¢öìD
¢Á™!„Åþ“þÐ

4. (a) £z!uþëûy˜ £z̃ !ÞÝþ!ÝþvþzÝþ xšþ öÝþ„þöì̃ yœ!‹ ›yoyöì‹îû “þîûšþ öíöì„þ
¦þyîûöì“þîû ²Ìí› ö”Ÿ#ëû ö›yÝþîû‰þy!œ“þ ý£zœöì‰þëûyîû †y!vþü
‘NeoBolt’ ÷“þ!îû £œÐ

5. (b) !”!ÍÔ ¢îû„þyöìîûîû òö”Ÿ ö„þ ö›rÝþ¢Åó vþzöì”Äyöì†îû ²Ì‰þyîû ”)“þ !£¢yöìî
›öì̃ y˜#“þ £öìœ˜ ö¢y˜% ¢%”Ð

6. (a) xÁÔ ›,!_„þyöì„þ vþzîÅîû „þîûöì“þ !‹þ™¢y› îÄî£*“þ £ëûÐ
7. (a) ¢)öìëÅîû !˜„þÝþ“þ› @ùÌ£ £œ î%•Ð
8. (d) ¢‚!î•yöì̃ îû 350B ˜Áºîû •yîûyëû ¢‚…Äyœ‡% ¦þy¡ìyöì†yÛþ#öì”îû

‹˜Ä !îöìŸ¡ì xy!•„þy!îû„þöì”îû !î¡ìöìëû vþzöìÍÔ!…“þ îûöìëûöìŠéÐ
9. (b) xy›…£z šþ!¢œ þ™y„Åþ!Ýþ î#îû¦)þ› ö‹œyëû xî!ßþi“þÐ
10. (a) e«yvþz̃  @Õy¢ £œ ~„þ •îûöì̃ îû xþ™!Ýþ„þÄyœ @Õy¢Ð
11. (a) £#öìîûîû îûy¢yëû!˜„þ îõþ˜ £œ ö„þy¦þÄyöìœrÝþ ²Ì„,þ!“þîûÐ
12. (a) •yöì̃ îû þ™y“þy…¢y öîûy† £ëû šþy!D îy Šéeyöì„þîû „þyîûöì’Ð
13. (b) (8 ÷ 2 + 6 × 3 – 5)

= 4 + 18 – 5
= 22 – 5 = 17

14. (a) •!îû– ¦þ@Ày‚Ÿ!Ýþ 
x
y

²ÌÙÀy˜%ëyëû#–
200xx 9100
150y 35y
100






îy– 
300x 9
250y 35



îy– 
x 9 250
y 35 300
 

îy– 
x 3
y 14


 !˜öì’Åëû ¦þ@Ày‚Ÿ!Ýþ 
3

14


15. (a) 5 km

5 km
A

3 km 3 km

4 km O
V

P

O £œ !îöìîöì„þîû ~î‚ P £œ xöìŸyöì„þîû x!hsþ› !î¨%Ð
 “þyöì”îû ›öì•Ä ”)îûc (PO) = (5 + 4) = 9 !„þ!›

16. (d) T

20


A

1


X

24


X

24


E

5


R

18


O

15


X

24


B

2


A

1


B

2


Y

25


17. (c)
 4 3

100
3


 

1 100
3

 

133 %
3



18. (c) A 10 !”öì̃  „þy‹ „þöìîû 1 x‚Ÿ

 A 1 !”öì̃  „þy‹ „þöìîû 
1

10  x‚Ÿ

B 20 !”öì̃  „þy‹ „þöìîû 1 x‚Ÿ

 B 1 !”öì̃  „þy‹ „þöìîû 
1
20  x‚Ÿ

A ç B ~„þöìe 1 !”öì̃  „þöìîû 
1 1 3

10 20 20
    
 

 x‚Ÿ

A, B ç C 1 !”öì̃  ~„þöìe „þöìîû 
1
5  x‚Ÿ

 C 1 !”öì̃  „þöìîû 
1 3
5 20

   
 

 x‚Ÿ

                   
4 3 1
20 20
   

 
 x‚Ÿ

 C
1
20  x‚Ÿ „þöìîû 1 !”öì̃

 C 1 x‚Ÿ „þöìîû 20 !”öì̃
19. (a) 4 îŠéöìîûîû ¢%öì” xy¢öìœ £ëû 1240 Ýþy„þy

10 îŠéöìîûîû ¢%öì” xy¢öìœ £ëû 1600 Ýþy„þy
 6 îŠéöìîûîû ¢%öì” xy¢öìœ £ëû 360 Ýþy„þy



xÄy!‰þ¦þy¢Åî¡ìÅ éôé 10– £z¢%Ä éôé 5  ö¢öì²WzÁºîû– 20222

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

1 îŠéöìîûîû ¢%öì” £ëû 
360

6
   
 

= 60 Ýþy„þy

4 îŠéöìîûîû ¢%” = (60 × 4) = 240 Ýþy„þy
 xy¢œ = (1240 – 240) = 1000 Ýþy„þy

20. (a) 681 Šéyvþüy îy!„þ ¢‚…Äy=!œîû ²Ì!“þ!Ýþîû xBþ=!œîû (Digit)
¢›!ÜT ~„þ!Ýþ þ™)’Åî†Å ¢‚…ÄyÐ

21. (b) ×2+44 12×2+4 ×2+4 ×2+4 ×2+428 60 124 252
+3A +3 +3 +3 +3D G J M P

22. (b) „%þ!Mþé„þœ ‹œ²Ìþ™y“þ „þ’ÅyÝþöì„þ xî!ßþi“þÐ
23. (b) òö“þ£!îû vþÄy›ó vþz_îûy…öì[þ ¦þy†#îûí# ˜”#îû vþzþ™îû !˜!›Å“þ

£öìëûöìŠéÐ ~!Ýþ ¦þyîûöì“þîû vþzF‰þ“þ› î¤y•Ð
24. (b) öŸy˜ £œ †Dyîû vþy˜“þ#öìîûîû vþzþ™˜”#Ð ö„þyŸ#– ö†y›“þ# ç

‡‡Åîûy £œ †Dyîû îy›“þ#öìîûîû vþzþ™˜”#Ð
25. (c) ¦þyîûöì“þîû 96% öœï£ xy„þ!îû„þ vþzêþ™y”˜ £öìëû íyöì„þ ç!vþŸy–

„þ’ÅyÝþ„þ– Šé!_Ÿ†vþü– ›•Ä²Ìöì”Ÿ ç Gþyvþü…[þÐ
26. (a) ¦þyœ„þy˜y£zöì‹Ÿ˜ ²Ì!e«ëûyëû îûîyîûöì„þ ¢yœšþyöìîûîû ¢öìD !›!Ÿöìëû

vþz_® „þîûy £ëûÐ
27. (c) 3 × 4 × 4 = 48

4 × 5 × 3 = 60
5 × 3 × 7 = 105

28. (d) A, B ç C ~îû ›)œ•öì̃ îû x˜%þ™y“þ 
1 1 1: :
2 3 4



= 6 : 4 : 3
•!îû– A, B ç C ~îû ›)œ•˜ ëíye«öì› 6x, 4x ç 3x
!î!˜öìëûyöì†îû x˜%þ™y“þéôôôé
(6x × 2) + (3x × 10) : 4x × 12 : 3x × 12
= (12x + 30x) : 48x : 36x
= 42x : 48x : 36x
= 7x : 8x : 6x
îŠéöìîû œy¦þ £ëû 378 Ýþy„þy

B þ™yöìî 
8378
21

   
 

= 144 Ýþy„þy

29. (d) •!îû– A ç B ~îû î“Åþ›y˜ îëû¢ x ç y
x 4 2 ...(i)
y 4 3





x 4 5 ...(ii)
y 4 7





x = 36 ç y = 52 £öìœ vþzþ™öìîûîû ¢›#„þîû’ ”%!Ýþîû ¢›y•y˜
þ™yçëûy ëyöìîÐ
î“Åþ›yöì̃  “þyöì”îû îëû¢ 36 îŠéîû ç 52 îŠéîûÐ

30. (b) x!îîy!£“þ vþy_«yîûöì”îû !‰þ!£«“þ „þöìîû 1 ¢‚…Äy!ÝþÐ

31. (c)

32. (a) MERCY

33. (d) 2   5   3  Books are  old
5   4   6  Man is  old
3   7   8  Buy good books

 are = 2
34. (b) •!îû– ¢‚…Äy ”%!Ýþ x, y

x + y = 10; xy = 24

 xöì̃ y˜Äöì„þîû öëy†šþœ 
1 1 x y
x y xy


 

10 5
24 12

 

35. (b) Q+ + P–  Y+

     
     X– + Z+

36. (d) !£›yœëûy˜ šþöìîûÞÝþ !îû¢y‰Åþ ö¢rÝþyîû !£›y‰þœ ²Ìöì”öìŸîû !¢›œyëû
xî!ßþi“þÐ

37. (a) ²Ìí› ¦þyîû“þ#ëû !£¢yöìî ö“þöì£îûy „%þ“%þî%!j˜ öŸ… ‹yöìëû” î%„þ
xÄyçëûyvÅþ !‹öì“þöìŠé˜Ð 2021 ¢yöìœ “¤þyîû îû!‰þ“þ ‘Arabic
Oration : Art and Function’ @ùÌsþi!Ýþîû ‹˜Ä !“þ!˜ ~£z
þ™%îûßþñyîû œy¦þ „þîûöìœ˜Ð

38. (b) 6  A  30
4
 
  B  45

9  C  20
 
 –

180

 C þ™y£zþ™!Ýþ 8 ‡^ùÝþyëû …y!œ „þîûöì“þ ¢Çþ› = 8 × 9 =
72 ~„þ„þ
 A + B vþz¦þöìëû£z 72 ~„þ„þ þ™)’Å „þîûöì“þ ¢Çþ› £öìî

72 72 7.2
6 4 10

  


 ‡^ùÝþyëûÐ

39-43 :
›yöì„Åþ!Ýþ‚ !šþ˜Äyª ö¢œ¢ ~£z‰þxyîû
}öì“þŸ x¦þ#„þ !î›œy ¢%öìîûŸ
¢%öì”¡Œy !îöìî„þ ›yœ“þ# ¢%öìîûw

¢%öìîûŸ xy„þy!Ÿ
}öì“þŸ „þyöìœy
›yœ“þ# £œ%”
x¦þ#„þ ö†yœy!þ™
!îöìî„þ ˜#œ/¢î%‹
¢%öìîûw œyœ
!î›œy öî=!˜
¢%öì”¡Œy ˜#œ/¢î%‹

39. (d)
40. (a)
41. (d)
42. (c)
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xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

43. (c)
44. (b) 1802 ¢yöìœ öî!¢öì̃ îû ‰%þ!_« ¢Á™y!”“þ £öìëû!Šéœ £z‚öìîû‹ ç

!m“þ#ëû îy‹#îûyç ~îû ›öì•ÄÐ ö¢£z¢›ëû !îÊ!ÝþŸ †¦þ˜Åîû
ö‹˜yöìîûœ !Šéöìœ˜ œvÅþ çöìëûöìœ¢!œÐ

45. (c) îûyÜTÉ„)þÝþîûy‹ xöì›y‡î¡ìÅ “¤þyîû îyîyîû x!¦þëyöì̃ îû ¢›ëû ¢y›!îû„þ
!Ÿ!îöìîû ‹§Ã@ùÌ£’ „þöìîû!Šéöìœ˜Ð

46. (a) þ™“Å%þ!†‹ †¦þ˜Åîû !vþ xyœ!›vþy òîÏ$ çëûyÝþyîû þ™!œ!¢óîû ¢öìD
¢‚ë%_«Ð

47. (a) ²Ì•y˜›sþf# ˜öìîûw ö›y”# vþz_îû²Ìöì”öìŸîû „þyöìí!îû @ùÌyöì› 296
!„þ!› ”#‡Å î%öì̈ œ…[þ ~:öì²Ì¢çöìëûîû vþzöìmy•˜ „þîûöìœ˜Ð

48. (b) !îÊ!ÝþŸ ë%_«îûyÜTÉ ¢‚¢öì”îû “þîûšþ öíöì„þ “þ˜%‹y ö˜¢y!îûöì„þ
2022 ¢yöìœîû xyëû%öìîÅ” îûb þ™%îûßþñyöìîû ¦)þ!¡ì“þ „þîûy £œÐ

49. (a) ö†œ S£z!uþëûyV !œ!›öìÝþöìvþîû “þîûšþ öíöì„þ ö‰þëûyîû›Äy˜ ~î‚
›Äyöì̃ !‹‚ !vþöìîûQîû !£¢yöìî ¢¨#þ™ „%þ›yîû =®öì„þ !˜ë%_«
„þîûy £œÐ

50. (d) ö„Ïþyöìîûy!šþœ A ~î‚ B ö“þ ›Äy†öì̃ !Ÿëûyöì›îû vþzþ™!ßþi!“þ œÇþ
„þîûy ëyëûÐ ö„Ïþyöìîûy!šþœ A ~îû îûy¢yëû!˜„þ ¢‚öì„þ“þ £œ
C55H72O5N4Mg ~î‚ ö„Ïþyöìîûy!šþœ ‘B’~îû îûy¢yëû!˜„þ
¢‚öì„þ“þ £œ C55H70MgN4O6Ð

51. (a) þ™Ýþy!Ÿëûy› ¢yœöìšþöìÝþîû ‹œ#ëû oî’ œyœ îy ˜#œ !œÝþ›yöì¢îû
çþ™îû ö„þyöì̃ y ²Ì¦þyî öšþöìœ ˜yÐ

52. (c) ë…˜ þ™,!íî#– ‰þw ç ¢)öìëÅîû ›yöìGþ íyöì„þ “þ…˜ ‰þw@ùÌ£’ ‡öìÝþ
íyöì„þÐ

53. (c) !Ýþ !¦þ !îûöì›yÝþ „þöìrÝþÆyöìœîû ‹˜Ä £z̃ šÊþyöìîûvþ “þîûD îÄî£yîû „þîûy
£öìëû íyöì„þÐ

54. (c) ‰þ“%þ¦Å%þöì‹îû öÇþešþœ = 16 × 3 = 48 î†Åöì¢!›
î†ÅöìÇþöìeîû öÇþešþœ = 16 î†Åöì¢!›

 î†ÅöìÇþöìeîû îyýîû ÷”‡ÅÄ = ‰þ“%þ¦Å%%þöì‹îû ²Ìßþi = 16  = 4
ö¢!›

 ‰þ“%þ¦Å%þöì‹îû ÷”‡ÅÄ 
48
4

  = 12 î†Åöì¢!›

 ‰þ“%þ¦Å%þöì‹îû þ™!îû¢#›y = 2(4 + 12) = 32 ö¢!›
55. (a) î,öì_îû îÄy¢y•Å = r ~„þ„þ

î,öì_îû öÇþešþœ A = r2 î†Å~„þ„þ
î,öì_îû þ™!îû!• C = r ~„þ„þ
rc = r × r = 2r2 =    r2)

56. (a) ›y˜îöì”öì£ xî!ßþi“þ  „ÏþÄy!¦þ„þyœ x!ßþi!Ýþ ‘Beauty Bone’
˜yöì› þ™!îû!‰þ“þÐ

57. (a) ö›œy„þy£zÝþ £œ „þþ™yöìîûîû xy„þ!îû„þÐ þ™y£zîûy£zÝþ £œ öœy£yîû
xy„þ!îû„þÐ †Äyöìœ˜y £œ ¢#¢yîû xy„þ!îû„þ ~î‚ „þÄy!¢!Ýþîûy£zÝþ
£œ !Ýþöì̃ îû xy„þ!îû„þÐ

58. (a) ›y˜îöì”öì£îû ”#‡Å“þ› öþ™!Ÿ £œ ¢yöìÝÅþy!îûëûy¢Ð ›y˜îöì”öì£îû
Ç%þo“þ› öþ™!Ÿ £œ öÞÝþ!þ™!vþëûy¢Ð ›y˜îöì”öì£îû î,£_› öþ™!Ÿ
£œ @Õ%!Ýþëûy¢ ›Äy!:›y¢Ð !šþ›yîû £œ ›y˜îöì”öì£îû î,£_›
x!ßþiÐ

59. (a) övþßþñÝþþ™ „þ!Á™vþzÝþyîû !î!¦þ§¬ îû„þ› !vþ¦þy£z¢ myîûy ¢‚ë%_«
íyöì„þ !„þlsþ îy!„þ=!œ ~„þ„þ !vþ¦þy£z¢Ð

60. (b) |!›Åîû ¦þy£z îy ”y”yîû àþy„%þ›y

|!›Åîû îyîy + |!›Åîû ¦þy£z îy ”y”yîû àþy„%þ›yîû îvþz›y

|!›Å  |!›Åîû ¦þy£z îy ”y”y
 |!›Å ›!£œy!Ýþîû „þ˜ÄyÐ

61. (a)  þ™yíÅ„þÄ 
2 2r 84500 4500

100 100
         
   

644500 28.8
100 100

  


 Ýþy„þy

62. (a) öë!Ýþîû PH < 7 ö¢!Ýþ £œ öœî%îû îû¢ ~î‚ ~!Ýþ xÄy!¢!Ýþ„þ
²Ì„,þ!“þîû £ëûÐ

63. (c) ”¤yöì“þîû Çþëûöìîûyöì•îû ‹˜Ä xy›yöì”îû !˜ëû!›“þ ”¤y“þ ›y‹yîû öë
›y‹˜ îÄî£*“þ £ëû “þy Çþyîû#ëû ²Ì„,þ!“þîûÐ

64. (c) îy“þyöì¢îû þ™!îû‰þœ˜öìßþËy“þ î‹yëû öîûöì… îy“þy¢öì„þ “þy‹y îûy…yîû
‹˜Ä ‡öìîûîû vþzþ™öìîûîû !”öì„þ ö¦þ!rÝþöìœÝþîû íyöì„þÐ

65. (b) îyöìëûy†Äyöì¢îû vþzþ™y”y˜=!œ £œ „þyîÅ̃  vþy£zx:y£zvþ– !›öìí˜
ç £y£zöìvÈþyöì‹˜Ð

66. (b) ¦þyîû“þ#ëû ¢%!²Ì› ö„þyöìÝÅþ !î‰þyîûöì„þîû ¢‚…Äy î,!kþîû Çþ›“þy
ö„þîœ›ye !˜!£“þ xyöìŠé ¢‚¢öì”îû çþ™öìîûÐ

67. (a) „þyîÅöì̃ îû ö„þœy¢y„þyîû xÄyöìœyÝþÆþ™ £œ £#öìîûÐ
68. (c) ~„þ!Ýþ !î!e«ëûy ßþº“þƒßþ³)þ“Åþ £öìî– ë…˜ S = + ve £öìîÐ
69. (d) !œÁ³þ ö˜yöìvÅþ !˜öì›yöìÝþyvþ þ™Äyîûy¢y£zÝþ myîûy ~!œšþÄy˜!Ýþëûy!¢¢

¢‚e«›’ £ëûÐ
70. (b) îÝ%þ!œ¢› öîûy†!Ýþ îÄy„þöìÝþ!îûëûyîû „þyîûöì’ £öìëû íyöì„þÐ
71. (b) ›y˜%öì¡ìîû Ÿîû#öìîû 31 ö‹yvþüy ¢%¡ì%Á¬y ßþ¬yëû% xyöìŠéÐ
72. (c) 300!Ýþ ²ÌöìîŸþ™e !îe«ëû £öìœ œy¦þ £öìî 1100 Ýþy„þy

˜yÝþ„þ ›Mþéßþi „þîûyîû îÄëû¦þyîû = 700 Ýþy„þy
 300!Ýþ ²ÌöìîŸþ™e !îe«ëû „þöìîû ¢‚@ùÌ£ £ëû = (1100 +
700) = 1800 Ýþy„þy
 300!Ýþ ²ÌöìîŸþ™e !îe«ëû „þöìîû ¢‚@ùÌ£ £ëû 1800 Ýþy„þy

1!Ýþ ²ÌöìîŸþ™e !îe«ëû „þöìîû ¢‚@ùÌ£ £ëû
1800
300  Ýþy„þy

500!Ýþ ²ÌöìîŸþ™e !îe«ëû „þöìîû ¢‚@ùÌ£ £ëû
1800 500
300

  Ýþy„þy

= 3000 Ýþy„þy
 500!Ýþ ²ÌöìîŸþ™e !îe«ëû „þöìîû œy¦þ £ëû
= (3000 – 700) = 2300 Ýþy„þy

73. (a)
x 1 1
y 1 4







xÄy!‰þ¦þy¢Åî¡ìÅ éôé 10– £z¢%Ä éôé 5  ö¢öì²WzÁºîû– 20224

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

îy– 4x + 4 = y + 1 ... (i)

~î‚ 
x 2 1
y 2 3





xþ™Ÿ˜ (A) ö„þ ¢!àþ„þ •öìîû „þîûöìœ þ™y£z

1 1 2 1
7 1 8 4


 


~î‚ 
1 2 3 1
7 2 9 3


 


 ¦þ@Ày‚Ÿ!Ýþ 
1
7



74. (c) 529 23

0.000529

529
1000000



23 0.023
1000

 

75. (c) •!îû– 1!Ýþ xyöì›îû e«ëû›)œÄ = x Ýþy„þy
4!Ýþ xyöì›îû e«ëû›)œÄ = 4x Ýþy„þy
²ÌÙÀy˜%¢yöìîû–
3!Ýþ xyöì›îû !îe«ëû›)œÄ = 4x Ýþy„þy

1!Ýþ xyöì›îû !îe«ëû›)œÄ 
4x
3

  Ýþy„þy

 œy¦þ 
4x xx
3 3

    
 

 Ýþy„þy

œyöì¦þîû £yîû 
x 100% 133 %

3 x 3


 


76. (b) 6 ç 7
77. (c) ¢)ey˜%¢yöìîû– n(n + 1) = 12(12 + 1) = 156

 ”%!”öì̃  ö›yÝþ îy‹öìî (156 × 2) = 312 îyîû

78. (b) 1 1 1 11 1 1 .... 1
2 3 4 m

             
     

 m 11 2 3 ....
2 3 4 m


   

1
m



79. (d)

80. (c) (iii), (v), (ii), (i), (iv)

81. (d) ¢„þœ 3!Ýþ !î¡ìëû ‹y˜y xyöìŠé ~›˜ îÄ!_« ~î‚ ¢‚ßþ,ñ“þ ‹y˜y
ö˜£z ~›˜ îÄ!_«îû ¢‚…Äyîû x˜%þ™y“þ
= 100 : (200 + 120 + 200)
= 100 : 520

= 5 : 27
5

27


82. (c)

83. (a)       A+ + D–

      
Z+ + C–


M+  N+  K–

 Z £œ K ~îû !þ™“þyÐ
84. (a) S Q O P M R N
85. (c) ‘L-DOPA’ ˜y›„þ vÈþy† þ™yîû!„þ˜¢˜ öîûyöì†îû ‹˜Ä îÄî£*“þ

£ëûÐ
86. (b) ¢‚…Äy!Ýþ £œ = œ¢y= × K + 1

2, 3, 4, 5 ~îû œ¢y= £œ = 60
 ¢‚…Äy!Ýþ £œ = 60 × 1 + 1 = 61

87. (c) A + B = 
5
7 x‚Ÿ

5 2C 1
7 7

   x‚Ÿ

 C þ™yöìî = 490 ×
2
7 = 140 Ýþy„þy

88. (b) 0.2 0.5 0.7 0.8  
2 5 7 8 22 42 2.4
9 9 9 9 9 9

      

89. (a)  ¢‚öì„þ“þ ¢‚ßþiy X ~îû „þ›Å#
 ¢‚öì„þöì“þîû þ™!îû‰þëûþ™e îûöìëûöìŠé
 !¢kþyhsþ (i) ¢!àþ„þ
!„þlsþ ¢‚öì„þ“þ ¢‚ßþiyîû ö„þy˜ þ™öì” îûöìëûöìŠé “þy !îî,!“þöì“þ
vþzöìÍÔ!…“þ ö˜£z
 !¢kþyhsþ (ii) ¢!àþ„þ ˜ëû

90. (d) 3 × (3 – 1) = 6 5 × (5 – 1) = 20
6 × (6 – 1) = 30 20 × (20 – 1) = 380

91. (a) îûy£zöìîyöì‹y› xDy˜%!Ýþ þ™”yíÅ!î£#˜ £ëûÐ
92. (c) ›¢,’ ~öìuþy²Õy‹!›„þ öîû!Ýþ!„þvþzœy› !î!¦þ§¬ !î¡ì ç vÈþy†öì„þ

!˜‹#Åî „þîûöì“þ =îû&cþ™)’Å ¦)þ!›„þy þ™yœ˜ „þöìîû íyöì„þÐ

93. (a)   3 9 3 8 9 2 18 

  9 6 2 9 6 2  

   229 6 2 81 72 9 3     
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xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

——————

94. (a) †y!’!“þ„þ †vþü 
x y 7

2




 x + y = 14

‹Äy!›!“þ„þ †vþü xy 2 10

 2
xy 2 10 40 

 x + y = 4 + 10 = 14
xy = 4 × 10 = 40
 ¢‚…Äy ”%!Ýþ £œ 4 ~î‚ 10

95. (b) P ˜y íy„þyëû EXPORT Ÿ·!Ý ÷“þ!îû „þîûy ëyöìî ˜yÐ

96. (b)

Šéye
!ŸÇþ„þ

x•ÄÇþþ

 ö„þîœ !¢kþyhsþ (ii) @ùÌ£’öìëy†Ä
97. (a) 393 + 394 + 395

= 393(1 + 31 + 32) = 393(1 + 3 + 9) = 393 × 13
 ¢‚…Äy ›y˜!Ýþ 13 myîûy !î¦þy‹Ä £öìîÐ

98. (b) (0.5)2 = 0.25

0.49 0.7
3 0.008 0.2

0.23 = 0.23

 î,£_› ¢‚…Äy!Ýþ £œ 0.49

99. (d)
2r400 1 441

100
   
 

2r 4411
100 400

   
 

r 211
100 20

 

r 21 21 20 11
100 20 20 20


   

 r = 5
 ¢%öì”îû £yîû = 5%

100. (d) adc/adc/adc/adc/adc
 ddaacc


